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Attempt all the five questions. One questlon from each
Unit is compulsory.

TPE—1
(UNIT—1)
@) ﬁwﬁ»@aﬁéﬁqmﬁmﬁm%? 1
i) NoOj%
(ii) BF;
(i) NH,

(iv) AICL
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Which of the following is nucleophile ?
i) NoO3
(i) BF;
(iii) NH,
(iv) AlCl,
NEEIERYPE o qo T § a9 Ay g IS
YA B MR R WAy | 3

Explain, why aniline is less basic than ethyl amine
on the basis of Resonance effect.

DA D Frow &) gor BT ARG @ Ay 4

Explain Huckel’s rule with example.

8 3rerar
(Or)
Wsﬁﬁrmfaraﬁa%%@ﬂfﬁamm%: 1

() Priiz

(i) 2°>p1°530 "

(iii) 3°>20> 10

(v} 395 (950

The‘seqUence of stability of carbonjum ions is :
GF 1°>00s3e

(i) 2°>'1°>30

(iii) 3°>20> 10

(iv) 3°>1°>90
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T 59 yER w0 § ? S wva e
e 1 e Hif | 3
How are carbanion form ? Explain its structure and
stability.

IS 79 R T Gl fomolt iRy | 3
Write a short note on Resonance Effect.
THE—2
(UNIT—2) :

difded ot g1 weRfa waraaad o1 = fiRag | 1
Write the name of the Isomerism that is shown by
Lactic acid.

Frefera Dt 31 R 7 s Rwmw Rk 3

CN

M B —{—— CHO

CH,OH

CH,
(i) Br H

COOH
CH,

(iii) H *’——~ OH

CH,CH,
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Write the R and S configuration of the following
compounds :

CN
(i) H —*— CHO

CH,OH

CH;
(i) Br H

COOH

CH,
(i) H ‘—§_ OH

| CH,CH,

frfaRa w wfra fewfmt iRy 3
() e gl
(i) IRIFE B

Write short notes on the following :
(i) Walden inversion

(ii) Steriogenic center

UG
(Or)
SR weagaar weldfa oxar ® ¢ 1
G 1-3=
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(i) 2-9=F
(i) 1-9gEH
(iv) 1-8H
Out of four which compound shows geometrical
isomerism ?
(i) 1-Pentene
(i) 2-Pentene
(iii) 1-Butene
(iv) 1-Heptene
T SETERYT 0 §Y E U9 Z uefy @ qweisy|

3

Explain E and Z system with suitable example.
g vd foue m@afis o oRaf ex s e
Tor-emt oR et iy | 3

Define cis and trans isomers and write a short not
on their properties. : '

TPE—3

(UNIT—3)
-G BT IR T & 1
) R
(i) wiaRa
(iii) gof afa
(iv) gt wiaRa
The unstable conformer of #n-Butane is :
(i) Eclipsed
(ii) Staggered
(iii) Fully eclipsed
(iv) Fully staggered
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(@) 'éma%mﬁqmqﬁmmﬁmls

Explain Baeyer’s strain theory with their limitations.

(=) W@HWWWW: 3

() e €
(i) WegeRaE ® Ul T 19w
erte short notes on the following :
(i) Banana bond
(ii) Boatand chair form of (,yclohexane
3dr
(09

(a1) et @1 ke g AR | 1

Write the structural formula of Naphthalene.

@) aryﬁqﬁgﬁaﬁgﬁc@ﬁ?ﬁﬁﬁqﬁwﬁm

fafr W= | 3
Explain the mechanism of Electrophilic substitution

in Benzene.

(=) ﬁﬂﬁﬁ@!ﬁq‘\fﬂ%ﬂ%ﬂﬁmw 3

) ot B dae WX
(ii) codm e
Write short notes on the following :
(i) Kekule structure of Benzene
(i) cand ™ complex

TIE—4

(UNIT—4)

@) 1@@%@@3%@@1@1%1 2

Explain the acidic nature of 1 alkyne.
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(i) 3NHERT
(i) ETgSERET-aifafieTor
Explain the following reactions :
(1)  Ozonolysis :
(it) Hydroboration-oxidation
Explair 2
xplain Markownikoff’s rule with example
3T :
(0r)
Tedleld @ Fofellawor 3
G feemaviemar @1 g
- i!ﬁm 3

“Explain the Regioselectivity i
At gioselectivity in the dehydration of

fmferfaa sfafarett @) wwemey -

() YETSTET &7 1, 2 ©d 1, 4 A
(i) S yeew i

Explain the following reAactions ;

(i) 1,2and 1, 4 Addition of Butadiene
(i1) Diels Alder reaction

TPR—5
(UNIT—S5)

ufedel Bellge B SR W SN2 d SN! R

B IS = wf
feruyofy ng-q oA q Wﬂﬁ °KY

4
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Explain SN! and SN2 mechanisms and the factors
that affect both mechanisms on the basis of alkyl

halide.
(@) vicwa same ¥ verw e (B,) faRfy o
AT | 2

Explain the unimolecular Elimination (E,)
mechanism on the basis of alkyl halide. ;

ST
(0r)

(@) THEEE - RARe gRremE @ By s
Afed FwEey | 3
Explain the aromatic nucleophilic substitution with
example.

@ T e swEs 3 v auEed @ SN
foranfafy ot ey | 3
Explain the SN' mechanism of hydrolysis of tert.
Butyl bromide.
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